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Part – III 

ANTHROPOLOGY 
Maximum : 80 Scores 

  

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    . 
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 Answer all questions from 1 to 16. Each carries 1 score. (16  1 = 16) 

 

 Fill in the blanks choosing correct answer from the bracket given below :  

1. Intensive study of single social unit is ____________. 

 

2. ____________ is the planned sequence of entire work involved in conducting a 

research.  

 

3. Regularities of personalities among people living in deprived conditions is 

____________. 

 

4. The concept ‘Sacred Complex’ is introduced by ____________. 

 [Historical method, Oscar Lewis, Case study, Scientific method, Research design, 

Culture of poverty, L.P. Vidhyarthi] 

 

 Find the Pair :  

5. Bushmen :  Hunters and gatherers 

 Todas :  ____________ 

 

6. Article 25 :  Freedom of religion 

 Article 17 :  ____________ 

 

7. Uprooting of people from their original habitat : Displacement 

 Restoring of displaced people into a new habitat : ____________ 

 

8. Expand PVTGs. 
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 1  16     . 1  .  

      (16  1 = 16) 

       

  :  

1.        _______. 

 

2.      

 _______.  

 

3.       

  _______. 

 

4. ‘  ’    _______ . 

 [ ,  ,  ,  , 

  ,   , .. ] 

 

   :  

5.     :     

     : ____________ 

 

6.  25     :    

  17     :  ____________ 

 

7.      

    :   

      

    :  ____________ 

 

8. PVTGs   . 
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 Match the Column A, B and C suitably :  

 A B C 

9. E.B. Tylor Diffusionism Cultural Ecology 

10. Julian Steward Functionalism Culture area 

11. Clark Wissler Multilinear Evolution Animism Theory 

12. Malinowski Classical Evolution Theory of Need 

 

13. Find the odd item based on the criterion given in bracket.  

 Dravidian, Proto-australoid, Mangaloid, Negroid. [Racial groups] 

 

14. Name the only State in India where female population exceeds male population.  

 

15. Who wrote the book ‘Philosophy for NEFA’ ? 

 

16. Which among the following is not a part of Nehru’s Tribal Panchaseel ?  

 (a) Tribes should develop along the lines of their own genius. 

 (b) Tribal rights in land and forest should be respected. 

 (c) Assimilate the tribal people into the mainstream of society. 

 (d) Not over administer tribal areas with multiplicity of schemes.   
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 , ,       :  

    

9. ..     

10.      

11.        

12.       

 

13.     -

  : 

 , -, ,   [ ]  

  

14.        -

  .  

 

15. ‘  ’     ?  

 

16.       

  ?   

 (a)      

. 

 (b)      . 

 (c)     . 

 (d)      .  
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 Answer any 6 questions from 17 to 23. Each carries 2 scores.  (6  2 = 12) 

17. Write any four sources of data for case study method. 

 

18. Write a brief note on ‘content analysis’ method. 

 

19. Differentiate Universalization from Parochialisation.  

 

20. Write the important elements for a caste to be dominant in an area according to  

M.N. Srinivas.  

 

21. Write a short note on ‘Hot and Cold’ concept of food in Ethnomedicine. 

 

22. Write any four features of Anthropological approach to tribal development. 

 

23. Examine the concept Sustainable Human Development. 

 

 Answer any 5 questions from 24 to 29. Each carries 4 scores.  (5  4 = 20) 

24. What is Questionnaire ? Write any six qualities of a good questionnaire. 

 

25. Define Scientific Method. Describe the important steps to be followed in Scientific 

method.  
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 17  23    6    . 

2  .    (6  2 = 12) 

17.        4  

. 

 

18. ‘    ’   . 

 

19.    .  

 

20. . .        

   ?  

 

21.   ‘ ,  ’   

  . 

 

22.       

  . 

 

23. ‘  ’   . 

 

 24  29    5    . 

4  .    (5  4 = 20) 

24.   ?       

. 

 

25. ‘ ’  .     

  .  
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26. Differentiate physiological adaptation from cultural / behavioural adaptation with 

suitable examples.  

 

27. Explain the concept ‘Folk – Urban Continuum’ proposed by Robert Redfield. 

 

28. ‘Historians and Social Scientists consider India as an Ethnological Museum.’ Analyse 

this statement based on racial, caste, tribal profile of India. 

 

29. List down any four contributions of any two Indian Anthropologists given below : 

 (a) L.K. Ananthakrishna Iyer 

 (b) M.N. Srinivas 

 (c) P.R.G. Mathur 

 

 Answer any 4 questions from 30 to 34. Each carries 6 scores.   (4  6 = 24) 

30. Prepare a chart showing different types of observation. Evaluate the importance of 

observation in Anthropological research by highlighting the merits of each of these 

types.  

 

31. Briefly explain Malinowski’s theory of functionalism.  

 

32. Explain how Ethnomedicine differs from Biomedicine in areas like 

 (a) Disease causation 

 (b) Treatment 

 (c) Preventive measures 
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26.  ,  ()    

  .  

 

27.    ‘- ’   

. 

 

28.      ‘ ’ 

 .  , ,   

    . 

 

29.        

     : 

 (a) . .   

 (b) . .  

 (c) ...  

 

 30  34    4    . 

6  .    (4  6 = 24) 

30.      .  

      

   .  

 

31.   ()  .  

 

32.      

    . 

 (a)   

 (b)  

 (c)   
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33. Explain the significance of any three environmental movements in India. 

 

34. As factors of social change, examine how economic, technological and legal factors are 

relevant.  

 

 Answer any 1 question from 35 to 36 in not more than 250 words. 8 scores. 
       (1  8 = 8) 

35. Briefly explain the major problems faced by the tribal people of India. 

 

36. By analyzing any four tribal movements in India examine how economic exploitations 

and inhuman social oppressions created unrest in Indian tribal areas. 

___________ 
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33.   3    . 

 

34.     , , 

     .  

 

 35  36    1   250  

  . 8 . (1  8 = 8) 

35.      . 

 

36.       

      

      

 . 

___________ 
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Time : 2 Hours 
  Cool-off time : 15 Minutes 

 

 
Part – III 

COMPUTER APPLICATION (HUMANITIES) 
Maximum : 60 Scores 

 
 

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
     . 

MARCH 2019 
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SECTION – A  

 Answer all questions from 1 to 5. Each carries 1 score.  (5  1 = 5) 

 

1. Expand CSS. 

 

2. The number of bits in a software port number is __________. 

 (a) 8  (b) 16 

 (c) 32  (d) 64   

 

3. Pick the odd one out : 

 (a) WordPress (b) Drupal 

 (c) Joomla! (d) CuteFTP 

 

4. Name the user of a database who is responsible for the control of centralised database.  

 

5. Give an example for mobile operating system. 

 

SECTION – B  

 Answer any 9 questions from 6 to 16. Each carries 2 scores.  (9  2 = 18) 

6. Prepare a short note on elements of design in publishing. 

 

7. What is “Drop Caps” feature of Writer Software ? Write the steps to incorporate drop 

caps in a paragraph. 

 

8. How do you convert text data directly to a table in Writer Software ? 
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 –   

 1  5    . 1  .  

      (5  1 = 5) 

1. CSS   . 

 

2.         __________ . 

 (a) 8  (b) 16 

 (c) 32  (d) 64   

 

3.    : 

 (a)  (b)  

 (c) ! (d)  FTP 

 

4.      

 .  

 

5.      . 

 

 –   

 6  16     9  .    

2  .   (9  2 = 18) 

6.        . 

 

7. Writer  “Drop Caps”    ?   

Drop Caps   . 

 

8. Writer        

 ? 
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9. Categorize the following HTML tags into container and empty tags : 

 <HEAD>, <BR>, <BODY>, <HR>, <P>, <IMG> 

 

10. Briefly explain definition list in HTML with an example. 

 

11. Name the tag used to include a select box in HTML form. Also write its attributes. 

 

12. List the font properties used in CSS. 

 

13. Compare shared hosting and dedicated hosting. 

 

14. Consider the relations ARTS and SPORTS given below : 

ARTS  SPORTS 

Reg. No. Name  Reg. No. Name 

101 Arun  102 John 

102 John  103 Kalam 

 Find the following : 

 (a) ARTS  SPORTS 

 (b) ARTS  SPORTS 

 

15. Differentiate between CHAR and VARCHAR data types in SQL. 

 

16. Write short notes on the following : 

 (a) Trademark 

 (b) Geographical Indication 
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9.   HTML  container  empty  

 : 

 <HEAD>, <BR>, <BODY>, <HR>, <P>, <IMG> 

 

10. HTML-     .  

 

11. HTML form-      

 .  

 

12. CSS-  font  . 

 

13.  ,     . 

 

14.   ARTS, SPORTS   . 

ARTS  SPORTS 

Reg. No. Name  Reg. No. Name 

101 Arun  102 John 

102 John  103 Kalam 

    : 

 (a) ARTS  SPORTS 

 (b) ARTS  SPORTS 

 

15. SQL- CHAR, VARCHAR      

. 

 

16.       : 

 (a)  

 (b)    



SY 45 6  

SECTION – C  

 Answer any 9 questions from 17 to 27. Each carries 3 scores.  (9  3 = 27) 

17. Electronic publishing can be either web based publishing or digital distribution of 

content. 

 (a) Name any two web based publishing technologies. (1)  

 (b) What is the use of an e-book reader ?  (1) 

 (c) Give an example for an e-book reader.  (1)  

 

18. What are the character formatting features in Writer ?  

  

19. (a) Define header and footer of a document.  (2) 

 (b) Write the steps to include header and footer in a Writer document. (1)   

   

20. Following are the steps of Mail Merge Process in Writer Software. Arrange them in 

proper order : 

 Adjust layout 

 Select document type 

 Create Salutation 

 Edit documents 

 Select starting document 

 Insert address block 

 Save, Print or send 

 Personalize documents 

 

21. Compare static and dynamic web pages.  
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 –   

 17  27    9  . 

3  .    (9  3 = 27) 

17.       
  . 

 (a)      

  .  (1)  

 (b) -     ? (1) 

 (c) -     . (1)  

 

18. Writer-     ?  

  

19. (a)   ,   . (2) 

 (b) Writer  ,    -

 .   (1)   

   

20. Writer       
.     : 

   

      

   

    

      

    

 ,      

   

 

21.         
.  
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22. List any two attributes each of the following HTML tags : 

 (a) <FONT> 

 (b) <DIV> 

 (c) <BODY> 

 

23. (a) Briefly explain the advantages of using CSS in a web page. (2) 

 (b) Write a <LINK> tag to include an external stylesheet page named  

“Mystyle.CSS” to a web page.   (1) 

  

24. What is meant by “responsive web design” ? How is it implemented ?  

 

25. Explain the major components of DBMS. 

 

26. Explain three levels of data abstraction in a database. 

 

27. List and explain popular mobile communication technologies. 

 

SECTION – D  

 Answer any 2 questions from 28 to 30. Each carries 5 scores. (2  5 = 10) 

28. (a) What is TOC of a document ?    (1) 

 (b) Write steps to create the following using Writer Software : 

  (i) TOC entries    (2) 

  (ii) TOC Page   (2) 
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22.   HTML     

  : 

 (a) <FONT> 

 (b) <DIV> 

 (c) <BODY> 

 

23. (a)   CSS    

.   (2) 

 (b) “Mystyle.CSS”        

 <LINK>  . (1) 

  

24. “    ”    ? 

   ?  

 

25. DBMS-   . 

 

26.     . 

 

27.       

 . 

 

 –   

 28  30    2  . 

5  .   (2  5 = 10) 

28. (a)   TOC    ?  (1) 

 (b) Writer     -

  . 

  (i) TOC    (2) 

  (ii) TOC    (2) 
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29. (a) Write the HTML code to create the table given below : (3)   

No. of registered students 

Year 
2017 60 

2018 65 

 (b) Differentiate <TD> and <TH> tags.  (2) 

 

30. (a) Name the different column constraints in SQL. (2) 

 (b) Given below is the structure of a table STUDENT : (3)   

Column name Type 

Roll No. Integer 

Name String of 30 characters 

Batch String of 20 characters 

Total Integer 

  On the basis of above description, write SQL statements to do the following : 

  (i) Create the table. 

  (ii) Insert a record (1, ‘Arjun’, ‘Humanities’, 700) into the table. 

  (iii) List the contents of the table.    

____________ 
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29. (a)     HTML  

.   (3)  

No. of registered students 

Year 
2017 60 

2018 65 

 (b) <TD>, <TH>     . (2) 

 

30. (a) SQL-    . (2) 

 (b) STUDENT      : (3)   

Column name Type 

Roll No. Integer 

Name String of 30 characters 

Batch String of 20 characters 

Total Integer 

     ,   

 SQL   : 

  (i)  . 

  (ii)   (1, ‘Arjun’, ‘Humanities’, 700)   

. 

  (iii)    .  

____________  
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Reg. No. : .....................................  SY 46  

Name : .........................................   
 

Time : 2 Hours 
  Cool-off time : 15 Minutes 

 

 

Part – III 

COMPUTER APPLICATION  

(COMMERCE) 
Maximum : 60 Scores 

 
 

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
     . 

MARCH 2019 
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PART – A 

 Answer all questions from 1 to 5. Each carries 1 score. (5  1 = 5) 

1. The input operator in C++ is _________. 

 

2. ______ character is stored at the end of the string.  

 

3. The process of breaking large program into smaller sub-programs is called ________.  

 

4. Name the keyword used to declare variable in JavaScript.  

 

5. Expand MIS. 

 

PART – B 

 Answer any 9 questions from 6 to 16. Each carries 2 scores.  (9  2 = 18) 

6. List the type modifiers in C++. 

 

7. Rewrite the following code using for loop : 

  int x = 1; 

 start :  

  cout << x; 

  x = x + 5; 

 if (x < = 50) 

  goto start; 

 

8. (i) Define an Array.  

 (ii) Initialize an integer array with 5 elements.  
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 –  

 1  5    . 1  . 
     (5  1 = 5) 

1. C++    _________ . 

 

2.     ______.  

 

3.          ________ 

 . 

 

4. JavaScript-      

.  

 

5. MIS-  . 

 

 –  

 6  16    9   .           

2  .   (9  2 = 18) 

6. C++     . 

 

7.     for Loop   . 

  int x = 1; 

 start :  

  cout << x; 

  x = x + 5; 

 if (x < = 50) 

  goto start; 

 

8. (i)  .  

 (ii)        .  
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9. Write the port number for the following web services : 

 (i) Simple Mail Transfer Protocol 

 (ii) HTTP secure (HTTPS) 

 

10. What is the use of frame tag in HTML ? What is its limitation ?  

 

11. Write the HTML code to display the following using list tag : 

 (i) Biology Science  

 (ii) Commerce 

 (iii) Humanities 

 

12. What is the difference between isNaN( ) and Number( ) functions in JavaScript ?  

 

13. What is CMS ? Give two examples.  

 

14. First table containing 4 rows and 3 columns, second table contains 5 rows and               

2 columns, then the Cartesian product table contains ________ rows and ______ 

columns.  

 

15. How Business Process Re-Engineering (BPR) is related to Enterprise Resource 

Planning (ERP) ? 

 

16. Define the terms : 

 (i) Cyber Forensics 

 (ii) Infomania 
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9.        : 

 (i) Simple Mail Transfer Protocol 

 (ii) HTTP secure (HTTPS) 

 

10. HTML- ‘Frame’    ?   .  

 

11.     HTML   : 

 (i) Biology Science  

 (ii) Commerce 

 (iii) Humanities 

 

12. JavaScript- isNaN( )  Number( )    .  

 

13. CMS   ?   . 

 

14.   4 rows- 3 columns-,   5 rows-                

2 columns-      _______ rows- ______ 

columns- . 

 

15.        

   ? 

 

16.     : 

 (i) Cyber Forensics 

 (ii) Infomania 
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PART – C 

 Answer any 9 questions from 17 to 27. Each carries 3 scores.  (9  3 = 27) 

17. Compare the selection statements ‘if ’ and ‘switch’.  

 

18. Write a program in C++ to accept a string with white space like “good morning” from 

the keyboard and display the same string. 

 

19. Compare static webpage and dynamic webpage.  

 

20. (i) What is the use of reserved characters for HTML entities ?  (1) 

 (ii) List any four reserved characters and its use.  (2)  

 

21. Write the built in JavaScript functions used for the following situation : 

 (i) Display warning message in the screen. 

 (ii) Character at a particular position. 

 (iii) Convert uppercase to lowercase. 

 

22. Write the merits and demerits of free webhosting.  

 

23. What is key ? Explain any two keys in a relational database management system. 

 

24. Define the term Data independence. Explain different levels of data independence.  
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 –  

 17  27    9   .              

3  .   (9  3 = 27) 

17.   ‘if ’  ‘switch’    .  

 

18. “good morning”       

      C++  

. 

 

19.           .  

 

20. (i) HTML        ?  (1) 

 (ii)       

.     (2)  

 

21.      

    : 

 (i)     . 

 (ii)     . 

 (iii)   (Uppercase)   (Lowercase) . 

 

22.       .  

 

23. ‘Key’    ?         

‘Key’- . 

 

24.   .     

 .  
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25. Explain any three situations to modify the structure of a table with the help of alter 

command in SQL.  

 

26. Explain the merits of ERP system.  

 

27. Compare GPRS and EDGE. 

 

PART – D 

 Answer any 2 questions from 28 to 30. Each carries 5 scores.  (2  5 = 10) 

28. Identify the built in C++ function for the following cases :  

 (i) to convert –25 to 25. 

 (ii) compare ‘computer’ and ‘COMPUTER’ ignoring cases. 

 (iii) to check the given character is digit or not. 

 (iv) to convert the character to ‘B’ to ‘b’. 

 (v) to find the square root of 64 or a number.  

 

29. (i) Write the name of tag used to group related data in an HTML form.  (1)  

 (ii) Write the HTML code to display the following webpage :  (4)  

   

 Username   

   

 Password   

   

  Submit  Reset   
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25. SQL- ‘Alter’       

   . 

 

26. ERP    . 

 

27. GPRS  EDGE   . 

 

 –  

 28  30     2    

. 5  .   (2  5 = 10) 

28.    C++      :  

 (i) –25  25  . 

 (ii) ‘computer’   ‘COMPUTER’     

  . 

 (iii)        . 

 (iv) ‘B’   ‘b’  . 

 (v) 64     . 

 

29. (i) HTML form       

  .    (1) 

 (ii)      HTML code 

 :    (4)  

   

 Username   

   

 Password   

   

  Submit  Reset   
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30. Consider the table student with attribute admno, Name, course, percentage. Write the 

SQL statements to do the following :  

 (i) Display all the student details.    (1) 

 (ii) Modify the course ‘Commerce’ to ‘Science’. (1) 

 (iii) Remove the student details with percentage below 35.  (1) 

 (iv) Create a view from the above table with percentage greater than 90. (2)  

______________ 
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30. admno, Name, course, percentage    student table  

 SQL   :  

 (i)    . (1) 

 (ii) ‘Commerce’   ‘Science’  . (1) 

 (iii) 35       . (1) 

 (iv) 90-     ‘view’ . (2)  

______________ 
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 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    .

MARCH 2019 
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SECTION – A 

 

 Answer any 7 questions from 1 to 8. Each carries 1 score. 
     (7  1 = 7) 

1. Who among the following was the editor of Gentleman’s Magazine ?  

 (a) Jawaharlal Nehru 

 (b) Edward Cave  

 (c) N. Ram 

 (d) P. Sainath 

 

2. Which of the following is an example for literary magazine ?  

 (a) Grihalakshmi 

 (b) India Today 

 (c) Balarama 

 (d) Bhashaposhini 

 

3. The film ‘Birth of a Nation’ depicts the history of  

 (a) Second World War 

 (b) Russian Revolution  

 (c) Sepoy Mutiny 

 (d) French Revolution 
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 –  

 

 1  8    7   .             

1  . (7  1 = 7) 

 

1. ’      ?  

 (a)   

 (b)     

 (c) .  

 (d) .  

 

2.       ?  

 (a)  

 (b)   

 (c)  

 (d)  

 

3. ‘   ’       

 ? 

 (a)    

 (b)   

 (c)   

 (d)   



SY 47 4  

4. What is corporate blog ? 

 

5. Name the first Controller of Broadcasting in India. 

 (a) Nicholai Telsa 

 (b) Lionnel Fielden 

 (c) Henrich Hertz 

 (d) Lee Dee Forest 

 

6. Who wrote the user manual of BINAC computers ?  

 (a) Charles Babbage  

 (b) Tim Berners Lee 

 (c) Bill Gates 

 (d) Joseph D. Chaplin 

 

7. What is transit advertising ?  

 

8. Name the award presented annually by the President of India for life time contribution 

to Indian Cinema.  

 (a) Bharat Ratna 

 (b) Padma Shree 

 (c) Dronacharya Award 

 (d) Dada Saheb Phalke Award 
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4.      ? 

 

5.      ? 

 (a)   

 (b)   

 (c)   

 (d)    

 

6.       ?  

 (a)   

 (b)    

 (c)   

 (d)    

 

7.     ?  

 

8.          

  

 (a)   

 (b)  

 (c)   

 (d)      
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SECTION – B 

 

 Answer all questions from 9 to 11 in about two or three sentences. Each carries 2 
scores. 

     (3  2 = 6) 

9. Write short note on Folio.  

 

10. Expand IPTA and name a film produced by IPTA.  

 

11. What is an User Manual ? 

 

SECTION – C 

 Answer all questions from 12 to 14 in about five or six sentences each. Each 

carries 3 scores.   (3  3 = 9) 

12. What are the different functions of layout in Magazine ?  

 

13. Compare between Panning and Tilting.  

 

14. What are the differences between internal and external publics in public relations ? 
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 –  

 9  11         -

. 2  .   (3  2 = 6) 

9.  . 

 

10. IPTA   . IPTA      ?  

 

11.      ? 

 

 –  

 12  14         -

.  3  .   (3  3 = 9)  

12.     ?  

 

13. ,    .  

 

14.    ,     

 . 
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SECTION – D 

 

 Answer any 5 questions from 15 to 21 in about 50 words each. Each carries                

4 scores.   (5  4 = 20) 

15. Describe the structure of a Magazine article.  

 

16. Explain three point lighting system.  

 

17. Compare the social conditions reflected in the film movements German expressionism 

and French New Wave.  

 

18. Write any four qualities of a technical writer.  

 

19. Briefly describe about Event Management.  

 

20. Elaborate the duties of a Magazine Editor.  

 

21. What are the major components of a display advertisement ?  
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 –   

 

 15  21    5    50  

 .  4  .  (5  4 = 20) 

15.    .  

 

16.        . 

 

17.  ,       

  . 

 

18.       .  

 

19.        .  

 

20.     .  

 

21.       ?  
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SECTION – E 

 

 Answer any 3 questions from 22 to 25 in about 150 words. Each carries 6 scores. 
     (3  6 = 18)  

22. What are the different types of radio broadcasting ?  

 

23. Maya is keen about knowing the characteristics of online journalism. Can you help her 

by providing atleast 4 characteristics ?  

 

24. What are the different functions of advertising ?  

 

25. Write any four differences between a Newspaper and a Magazine.  

_____________ 
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 –  

 22  25    3    150  

 . 6  .  (3  6 = 18)  

22.       ?  

 

23.     . 

     .  

 

24.     ?  

 

25.       .  

_____________ 
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Reg. No. : .....................................  SY 48 

Name : .........................................   
   
  Time : 2½  Hours 
  Cool-off time : 15 Minutes 

 

 

Part – III 

BUSINESS STUDIES 
Maximum : 80 Scores 

 

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  

 ‘  ’     
 . 

      . 

    . 

  , , ,    
. 

   . 

    . 

      
    . 

MARCH 2019 
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Answer all questions from 1 to 7. Each carries 1 score.  (7  1 = 7) 

1. Identify the management principle which states that a manager should replace “I with 

We” in all his conversations with workers to foster team spirit.  

 (a) Espirit De Corps  

 (b) Initiative  

 (c) Unity of Command 

 (d) Unity of Direction  

  

2. Identify the type of plan which specifies the steps to be carried out in different business 

activities in a sequential order.  

 (a) Programme 

 (b) Procedure  

 (c) Method  

 (d) Strategy  

  

3. Which among the following is not an organizational objectives of management ? 

 (a) Profit 

 (b) Survival  

 (c) Protecting Environment  

 (d) Growth  

  

4. Grapevine relates to  

 (a) Formal communication  

 (b) Informal communication  

 (c) Formal organisation  

 (d) Informal organisation  

  

5. Name the controlling technique which states that only the significant deviations which 

go beyond the permissible limit should be brought to the notice of management.  



SY 48  3 P.T.O. 

 1  7    . 1  .  

     (7  1 = 7) 

1.       “  
 ”   .        ? 

 (a)   

 (b)  

 (c)   

 (d)   

  

2.         
  ? 

 (a)  

 (b)  

 (c)  

 (d)  

  

3.       
  ? 

 (a)  

 (b)  

 (c)   

 (d)  

  

4. ‘’      ? 

 (a)   

 (b)   

 (c)   

 (d)   

  

5.       
      
 . 



SY 48 4 

6. A company offers 40% of extra shaving cream in a pack of 100 grams. Identify the 

sales promotion tool used here.  

 

7. A company gets applications without declaring any vacancies. However, as and when 

vacancy arises, the company makes use of such applications.  

 Name the source of recruitment mentioned here. 

 

 Answer Questions 8 and 9 after observing given hint. Each carries 1 score.  

      (2  1 = 2)  

8. Hint :- Delegation :- Transfer of Authority from superior to subordinate.  

   Decentralisation :- ________________ 

 

9. Hint :- Long term investment decision :- Capital budgeting decision.  

   Short term investment decision :- ________________ 

 

 Answer all questions from 10 to 13. Each carries 2 scores.  (4  2 = 8) 

10. Briefly explain the meaning of financial planning.  

 

11. Classify the following items into appropriate elements business environment : 

 (a) Literacy rate  

 (b) Public debt (Internal and External)  

 (c) Rate of savings and investment  

 (d) Birth and death rate  

 

12. State any two characteristics of a good brand name.  

 

13. State the conditions under which a consumer can approach the State Commission for 

getting relief for his grievances.  



SY 48  5 P.T.O. 

6.   100      40%  . 
   . 

 

7.         
.       
.  

    . 

 

 8  9      
. 1  .   (2  1 = 2) 

8.  :-   :-       
 . 

   :- ________________ 

 

9.  :-    :-     

    :-  ________________ 

 

 10  13    .  2  .  

        (4  2 = 8) 

10.      . 

 

11.         
 . 

 (a)   

 (b)  ( ) 

 (c)    

 (d)    

 

12.        . 

 

13.       
     . 
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 Answer any 4 questions from 14 to 18. Each carries 3 scores.  (4  3 = 12) 

14. State any three significance of Principles of Management.  

 

15. Briefly explain the different types of leadership styles.  

 

16. Compare Treasury Bill and commercial paper, both are used in Indian money market.  

 

17. State any three responsibilities of consumers.  

 

18. Explain any three impact of government policy changes on business and industry.  

 

 Answer any 5 questions from 19 to 24. Each carries 4 scores.  (5  4 = 20) 

19. Explain the following types of training : 

 (a) Vestibule training  

 (b) Apprenticeship training  

 

20. This management function ensures that “all activities are performed as per 

predetermined plans”.  

 (a) Identify the management function.  

 (b) Explain its first three steps.  

 

21. Briefly explain any two characteristics of entrepreneurship.  

 

22. Under this technique of scientific management, one worker is supervised by eight 

specialist foreman.  

 (a) Identify the technique. 

 (b) Show this technique in a diagram.  

 

23. State any four regulatory functions of SEBI.  

 

24. State any four differences between marketing and selling.  



SY 48  7 P.T.O. 

 14  18    4  . 

3  .      (4  3 = 12) 

14.        . 
 

15.     . 
 
16.         

  . 
  

17.     . 
 

18.      
    . 

 

 19  24    5  .  

4  .      (5  4 = 20) 

19.     . 

 (a)   
 (b)   

 

20.       
    . 

 (a)    . 
 (b)      . 
 

21.     . 
 

22.         
 . 

 (a)    . 
 (b)      . 
 

23. SEBI-      . 
 

24.        . 
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 Answer any 3 questions from 25 to 28. Each carries 5 scores.  (3  5 = 15) 

25. Mr. Jojo is working as a production manager of a Joint Stock Company.  

 (a) Identify the level of management he belongs to.  

 (b) State any four functions performed by him.  

 

26. This management function seeks to bridge the gap between where we are and where we 

want to go.  

 (a) Identify the management function.  

 (b) Explain any four importance of that function.  

 

27. This management function begins with work force planning and putting people to job.  

 (a) Name the management function.  

 (b) Explain its first four steps/process.  

 

28. Star Ltd. produces three types of products such as cosmetics, garments and medicines.  

 (a) Suggest a suitable organizational structure for Star Ltd.  

 (b) Represent this structure in a diagram. 

 (c) State any two advantages of it.  



SY 48  9 P.T.O. 

 25  28    3  . 

5  .   (3  5 = 15) 

25.          

 . 

 (a)       . 

 (b)      . 

 

26.   ,   , 

     . 

 (a)    . 

 (b)       . 

 

27.         

   .     

   . 

 (a)     . 

 (b)       . 

 

28.       .  

 , ,   . 

 (a)       . 

 (b)      . 

 (c)       .   
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 Answer any 2 questions from 29 to 31. Each carries 8 scores.  (2  8 = 16) 

29. One of the financial decision relates to the amount of profits to be retained in the 

business.  

 (a) Identify the financial decision. 

 (b) Explain any seven factors affecting this decision. 

 

30. Sun Ltd. offers shares to its employees at a price which is lower than market price. 

 (a) Identify the type incentive offered to the employees.  

 (b) Name the incentive.  

 (c) Explain any four similar types of incentives.  

 

31. It is an impersonal form of communication which is paid for by the marketers 

(sponsors) to promote some goods and services.  

 (a) Name the promotional tool mentioned above.  

 (b) Explain its four merits and three limitations.  

____________  
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 29  31    2  . 

8  .   (2  8 = 16) 

29.         

     . 

 (a)     . 

 (b)      7  

. 

 

30.          

     . 

 (a)      . 

 (b)   . 

 (c)    4  . 

 

31.       

  ()    

    . 

 (a)      . 

 (b)      4  3  

. 

____________ 
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Part – III 

ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS 
Maximum : 80 Scores 

  

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 

 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 

 Read questions carefully before answering. 

 Read the instructions carefully. 

 Calculations, figures and graphs should be shown in the answer sheet itself. 

 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  
 ‘  ’     

 . 
      . 
    . 
  , , ,    

. 
   . 
    . 
      

    . 
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     PART – A 

     ACCOUNTING (Maximum Scores : 40) 
 

 Answer all questions from 1 to 4. Each carries 1 score.  (4  1 = 4) 

1. The Balance Sheet of a not for profit organization does not include : 

 (a) Assets (b) Liabilities 

 (c) Owner’s Fund (d) Capital Fund 

 

2. Gaining ratio is to be calculated at the time of _________ of a partner. 

 (a) admission (b) retirement 

 (c) death  (d) both (b) and (c) 

 

3. Forming a partnership deed is _________ 

 (a) mandatory (b) not mandatory 

 (c) mandatory in writing (d) None 

 

4. Unrecorded liabilities located on admission of a partner will be _________ 

 (a) Debited to Revaluation A/c. (b) Credited to Revaluation A/c. 

 (c) Debited to Capital A/c. (d) Credited to Capital A/c. 
 

 Answer all questions from 5 to 8. Each carries 2 scores.  (4  2 = 8) 

5. Malu, a partner withdrew ` 1,000 regularly at the beginning of every month. Calculate 
interest on drawings @ 6% p.a. 

 

6. Complete the following table : 

Partner Old Ratio Sacrificing Ratio New Ratio 

Rajan 
3
5 ? 

12
25 

Radhan 
2
5 

2
25 ? 
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 –  

 
(  : 40) 

 

 1  4    . 1  . (4  1 = 4) 

1.       : 
 (a)  (b)  

 (c)   (d)   
 
2.      _________ . 
 (a)  (b)  

 (c)  (d) (b)  (c)  
 

3.     _________ . 
 (a)  (b)  

 (c)   (d)  
 

4.         
_________ . 

 (a)    
 (b)    
 (c)    
 (d)    
 
 5  8    . 2  . 

         (4  2 = 8) 
5.       1,000  

. 6%      . 
 

6.    : 

Partner Old Ratio Sacrificing Ratio New Ratio 

Rajan 
3
5 ? 

12
25 

Radhan 
2
5 

2
25 ? 
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7. Ascertain the amount of stationery consumed during the year ended 31st March, 2018. 

 Stock of stationery on 31-03-2017  – ` 1,200 

 Stock of stationery on 31-03-2018  – ` 1,900 

 Creditors for stationery on 31-03-2018  – ` 1,400 

 Amount paid for stationery during 2017-18  – ` 1,300  

 

8. Creditors of a firm were ` 21,000. Of which creditors for ` 10,000 accepted stock worth  
` 8,000 on full settlement. Remaining creditors were paid at 10% discount. Calculate the 
amount payable to creditors and pass Journal Entry at the time of dissolution of firm. 

 

 Answer any 2 questions from 9 to 11. Each carries 3 scores.  (2  3 = 6) 

9.  (a) Fill up the following as per hint given : 

  Hint : Receipts and Payment A/c. : Cash in hand 

  Income and Expenditure A/c. : ?___________ 

 (b) Write any two differences between Receipts and Payments A/c. and Income and 
Expenditure A/c. 

 

10. In which ratio goodwill is shared in the following cases ? 

 (i) Amount of goodwill paid by the new partner. 

 (ii) Amount of goodwill paid to the outgoing partner 

 Also write any two differences between those ratios. 

 

11. Anu, Achu and Ammu are partners sharing profits in the ratio of 5 : 4 : 3. Achu retires 
and is given ` 8,000 as goodwill. 

 (a) Compute the relevant ratio in which goodwill is shared by Anu and Ammu. 

 (b) Write the Journal Entry. 
 

 Answer any 1 question from 12 to 13. Each carries 4 scores.  (1  4 = 4)    

12. A and B are partners in a firm. During the year 2017, the firm earned a profit of  
` 24,000 before charging the following : 

 (i) Interest on capitals @ 10% p.a. (partners capitals – A - ` 30,000, B – ` 25,000). 

 (ii) Monthly salary payable to B ` 500. 

 (iii) Interest on drawings – A ` 300, B ` 200. 

 Prepare Profit and Loss Appropriation A/c. 
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7. 2018  31-     -
.  

    31-03-2017  – 1,200  
     31-03-2018  – 1,900  
    31-03-2018  – 1,400  
 2017-18      – 1,300   
 

8.    21,000 .   10,000 
  8,000     . 
  10%   .  
       
. 

 

 9  11    2  .                    
3  .    (2  3 = 6) 

9.  (a)    : 
   :        :   . 
       : ?___________ 
 (b)                      

     . 
 

10.        ?  
 (i)     
 (ii)     
         

. 
 

11.  , ,     5 : 4 : 3  
.     8,000   
 . 

 (a) ,      . 
 (b)   . 
 
 12  13    1  .  4 

.     (1  4 = 4)    
12. ,     . 2017-  

    24,000    : 
 (i)    @ 10% p.a. (  :  – 

30,000 ,  – 25,000 ). 
 (ii) -    500 . 
 (iii)   –  300 ,  200 . 
        . 



SY 49 6  

13. Journalise the following on dissolution of a firm : 

 (a) Realisation expenses paid ` 1,500. 

 (b) Investments not recorded in the books realized ` 2,000. 

 (c) Creditors for ` 10,000 agreed to accept at 5% discount. 

 (d) Loss on realization amounted to ` 1,200. 

 
 Answer all questions from 14 to 15. Each carries 5 scores. (2  5 = 10) 

14. A, B and C are partners sharing profits as 2 : 1 : 2. C retires from the firm. Goodwill of 
the firm is based on 3 years purchase of the average profits of the last 4 years results 
which were ` 22,000, ` 28,000, ` 18,000 and ` 8,000 (loss) respectively. 

 Compute the value of goodwill and give Journal Entries in the following cases : 

 (i) When goodwill appears in the books at ` 30,000. 

 (ii) When goodwill appears in the books at ` 50,000. 

 

15. Following is the Balance Sheet of a firm where Abhi and Pranav are partners who share 
profits in the ratio of 3 : 2 : 

                                                 Balance Sheet as on 31-03-2018 

Liabilities Amount Assets Amount 

Creditors 20,000 Cash 12,000 

Bills Payables 30,000 Debtors 20,000  

Investment Fluctuation Fund 5,000 (–) Provision          1,000 19,000 

Reserve Fund 20,000 Stock 22,000 

Capitals :  Furniture 25,000 

 Abhi 43,000  Machinery 40,000 

 Pranav                 30,000 73,000 Investments 30,000 

 1,48,000  1,48,000 
    

 Following transactions took place on dissolution of the firm : 

 (i) Debtors realized 90% of the book value. 

 (ii) Abhi took over furniture at ` 22,000. 

 (iii) Creditors were paid ` 17,000 in full settlement and stock realized at 10% less the 
book value. 

 (iv) Realisation expenses ` 1,000 paid by Pranav. 

 Prepare Realisation Account. 
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13.   ,    
 : 

 (a)     1,500 . 
 (b)       2,000 . 
 (c) 10,000    5%    . 
 (d)   1,200 . 
 
 14  15    . 5  . 
       (2  5 = 10) 
14.  , ,      2 : 1 : 2 .  

.     4  
  3   . 4  
   22,000; 28,000; 18,000; 8,000 () 
. 

      
    : 

 (i)  30,000   . 
 (ii)  50,000   . 
 
15. 3 : 2       ,   

   : 
                                                 Balance Sheet as on 31-03-2018 

Liabilities Amount Assets Amount 

Creditors 20,000 Cash 12,000 

Bills Payable 30,000 Debtors 20,000  

Investment Fluctuation Fund 5,000 (–) Provision          1,000 19,000 

Reserve Fund 20,000 Stock 22,000 

Capitals :  Furniture 25,000 

 Abhi 43,000  Machinery 40,000 

 Pranav                 30,000 73,000 Investments 30,000 

 1,48,000  1,48,000 
    

      : 

 (i)    90% . 

 (ii)  22,000   . 

 (iii)  17,000   ,   10% . 

 (iv)    1,000    . 
   . 
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 Answer any 1 question from 16 to 17. Each carries 8 scores. (1  8 = 8) 
16. The Receipts and Payments Account of Jubily Club for the year ended 31st December, 

2018 is given below : 
            Receipts and Payments Account for the year ended 31st December, 2018 

Receipts Amount Payments Amount 
Balance b/d 12,000 Rent 3,000 

Subscriptions 32,000 Salaries 7,500 
Donation for building 25,000 Books 4,000 
Sale of old newspapers  1,500 Furniture 12,000 
Sundry receipts 1,000 Investment 30,000 
  Balance c/d 15,000 
 71,500  71,500 
    

 Other Information : 

 (1) Subscriptions outstanding as on 31st December, 2017 ` 2,000 and on                          
31st December, 2018 ` 3,000. 

 (2) Salaries due ` 2,500, Rent prepaid ` 500. 

 (3) On 31st December, 2017, the Club had Furniture ` 6,000 and Books ` 3,000. 

 (4) Depreciate furniture by ` 3,000. 

 Prepare Income and Expenditure Account and Balance Sheet as on the above date. 
 

17. The Balance Sheet of Gopika and Deepika sharing profits in proportion of 3/4 and 1/4 
is given below : 

                                                 Balance Sheet as on 31st March, 2018 
Liabilities Amount Assets Amount 

Sundry creditors 25,000 Cash 12,500 

General reserve 4,000 Bills receivables 3,000 
Capitals :  Sundry debtors 17,000  
 Gopika 31,000  (–) Prov.                  1,000 16,000 
 Deepika          22,500 53,500 Stock 15,000 
  Furniture 6,000 
  Buildings 30,000 
 82,500  82,500 
    

  Radhika is admitted on the above date as per the following terms : 

 (1) She will bring in ` 20,000 for capital and ` 8,000 as her share of goodwill for 1/4 
share in the profits. 

 (2) Stock and furniture reduced by 10%. 

 (3) Provision for doubtful debts to be increased to ` 1,500 and creditors unrecorded 
to the extent of ` 2,000. 

 (4) Buildings revalued at ` 40,000. 

 Prepare necessary Ledger Accounts and Balance Sheet. 
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 16  17    1  .             

8 .     (1  8 = 8) 
16. 2018  31-          

   : 
            Receipts and Payments Account for the year ended 31st December, 2018 

Receipts Amount Payments Amount 
Balance b/d 12,000 Rent 3,000 

Subscriptions 32,000 Salaries 7,500 
Donation for building 25,000 Books 4,000 
Sale of old newspapers  1,500 Furniture 12,000 
Sundry receipts 1,000 Investment 30,000 
  Balance c/d 15,000 
 71,500  71,500 
    

   : 
 (1) 2017  31   2,000   2018  

31    3,000 . 
 (2)    2,500 ,     500 . 
 (3) 2017  31,   6,000  , 3,000  

 . 
 (4)  3,000  . 
          

. 
 

17. 3/4 : 1/4      ,  
    : 

                                                 Balance Sheet as on 31st March, 2018 
Liabilities Amount Assets Amount 

Sundry creditors 25,000 Cash 12,500 

General reserve 4,000 Bills receivables 3,000 
Capitals :  Sundry debtors 17,000  
 Gopika 31,000  (–) Prov.                  1,000 16,000 
 Deepika          22,500 53,500 Stock 15,000 
  Furniture 6,000 
  Buildings 30,000 
 82,500  82,500 
    

       : 
 (1)   20,000    8,000  

  1/4   . 
 (2) ,   10% . 
 (3)    1,500  .  

2,000  . 
 (4)    40,000 . 
     . 
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PART – B 

     ANALYSIS OF FINANCIAL STATEMENTS  

(Maximum Scores : 40) 

 Answer all questions from 1 to 4. Each carries 1 score. (4  1 = 4) 
 

1. A company issued 10%, 1000 debentures of ` 100 at par. Here 10% indicates : 

 (a) Discount rate (b) Interest rate 

 (c) Dividend rate (d) None 
 

2. Find the odd one out : 

 (a) Debt-Equity Ratio (b) Proprietary Ratio 

 (c) Inventory Turnover Ratio (d) Interest Coverage Ratio 
 

3. Tools of analysis of financial statements does not include : 

 (a) Comparative Statement (b) Trend Analysis 

 (c) Common Size Statement (d) Income Statement 
 

4. Which of the following is not a non-cash item ? 

 (a) Depreciation (b) Provision 

 (c) Amortization (d) Income Tax 
 

 Answer any 3 questions from 5 to 8. Each carries 2 scores. (3  2 = 6) 

5. Write the type of debentures mentioned in the following statements : 

 (a) Debentures for which the company does not keep any record of debenture holders. 

 (b) Debentures which are redeemable on the winding-up of the company. 
 

6. Under what heading will the following accounts appear in the Balance Sheet of a company ? 

 (a) Reserves and Surplus 

 (b) Inventories 
 

7. Write the impact of the following transactions on cash from operations : 

 (a) Increase in Debtors 

 (b) Decrease in Inventory 
 

8. Calculate Gross Profit Ratio : 

 Revenue from operations ` 6,50,000 

 Returns inwards    ` 50,000 

 Cost of revenue from operations ` 4,80,000 
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 –  
      

 (  : 40) 
  

 1  4    . 1  . (4  1 = 4) 
1.   100  10%, 1000   .  

10%  : 
 (a)    (b)   
 (c)    (d)  
 

2.    : 
 (a)     (b)   
 (c)    (d)    
 

3.      : 
 (a)     (b)   
 (c)     (d)    
 

4.      ? 
 (a)  (b)  
 (c)  (d)   
 
 5  8    3   .              

2  .    (3  2 = 6) 
5.       

 : 
 (a)       . 
 (b)      . 
 

6.        
  ? 

 (a)   
 (b)    
 

7.       -
  : 

 (a)   
 (b)    
 

8.     : 
     – 6,50,000   
    – 50,000   
      –  4,80,000  
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 Answer any 3 questions from 9 to 12. Each carries 3 scores. (3  3 = 9) 

9. What are the basic financial statements of a company ? Write any two limitations of it. 

 

10. Omega Ltd. purchased a building for ` 2,20,000. Half of the payment was made in cash 
and the balance by issue of 12% debentures at a premium of 10%. Give journal entries. 

 

11. A company received 20000 applications against 15000 shares offered to the public. 

 (a) Identify the type of subscription mentioned in the above. 

 (b) What are the alternatives available to the company for the allotment of shares in 
such a case ? 

  

12. Classify the following business activities into investing, financing and operating 
activities :  

 (a) Sale of fixed assets 

 (b) Sale of inventories 

 (c) Sale of shares 

 (d) Payment of dividend 

 (e) Payment to creditors 

 (f) Dividend received 

 

 Answer all questions from 13 to 14. Each carries 4 scores. (2  4 = 8) 

13. Kefcon Ltd. forfeited 300 shares of ` 10 each for non-payment of allotment money of  
` 3 per share and call money of ` 4 per share.  Out of these 250 shares were reissued 
for ` 2,000. Give Journal Entries. 

 

14. Prepare a comparative statement of Profit and Loss for the year ending 31st March, 
2018. Rate of income tax was 40%. 

Particulars 2016-17 2017-18 

Revenue from operations 6,00,000 8,00,000 

Other incomes 50,000 1,00,000 

Expenses 4,00,000 5,00,000 



SY 49  13 P.T.O.  

 9  12    3  .                    
3  .    (3  3 = 9) 

9.       ?  
  . 

 

10.    2,20,000   .    
  12%  10%   .  
 . 

 

11.     15000    20000 
 . 

 (a)     . 

 (b)       
   ? 

  

12.     , , 
    :  

 (a)   

 (b)   

 (c)   

 (d)   

 (e)   

 (f)   

 

 13  14   . 4  . (2  4 = 8) 

13.    ,    300   ,                
3    4   .  250 
 2,000  .   . 

 

14. 2018   31   -    . 
   40% . 

Particulars 2016-17 2017-18 

Revenue from operations 6,00,000 8,00,000 

Other incomes 50,000 1,00,000 

Expenses 4,00,000 5,00,000 
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 Answer Questions No. 15, which carries 5 scores.   (1  5 = 5) 

15. Calculate cash from operations. 

Items 2017 2018 

Balance of Profit and Loss A/c. 20,000 30,000 

Bills Receivables 18,000 14,000 

Provision for Depreciation 30,000 32,000 

Outstanding Rent 4,000 1,600 

Prepaid Insurance 1,200 1,400 

Goodwill 20,000 16,000 

Sundry Debtors 18,000 14,000 

 

 Answer any 1 question from 16 and 17. Each carries 8 scores. (1  8 = 8)  

16. Sundaram Ltd. issued 50,000 shares of ` 10 each payable as ` 3 on application, ` 4 on 
allotment and the balance on first and final call. 

 Applications were received for 70,000 shares and allotment was made on pro-rata 
basis. Adwaith, holder of 500 shares failed to pay allotment and call money. His shares 
were later forfeited. Give journal entries. 

 

17. From the following details 

 ` 

Revenue from operations 1,50,000 

Cost of revenue from operations 1,20,000 

Opening stock 29,000 

Closing stock 31,000 

Sundry debtors 16,000 

Net fixed assets 1,10,000 

 Calculate : 

 (a) Gross profit ratio 

 (b) Inventory turnover ratio 

 (c) Fixed assets turnover ratio 

 (d) Debtors turnover ratio 

___________ 
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   15  . 5 .   (1  5 = 5) 

15.       . 

Items 2017 2018 

Balance of Profit and Loss A/c. 20,000 30,000 

Bills Receivables 18,000 14,000 

Provision for Depreciation 30,000 32,000 

Outstanding Rent 4,000 1,600 

Prepaid Insurance 1,200 1,400 

Goodwill 20,000 16,000 

Sundry Debtors 18,000 14,000 

 

 16  17    1  .                    
8 .      (1  8 = 8)  

16.   10  50000  .  
 3 ,   4 ,     . 

 70,000             -    -
  .   500   
         .          
.   . 

 

17.     

  

Revenue from operations 1,50,000 

Cost of revenue from operations 1,20,000 

Opening stock 29,000 

Closing stock 31,000 

Sundry debtors 16,000 

Net fixed assets 1,10,000 

   :  

 (a)    

 (b)    

 (c)     

 (d)    
___________ 
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Part – III 

ACCOUNTANCY WITH COMPUTERISED ACCOUNTING 
Maximum : 60 Scores 

  

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time. 
 Use the ‘Cool-off time’ to get familiar with questions and to plan your answers. 
 Read questions carefully before answering. 
 Read the instructions carefully. 
 Calculations, figures and graphs should be shown in the answer sheet itself. 
 Malayalam version of the questions is also provided. 
 Give equations wherever necessary. 
 Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 

 

    15   ‘  ’  .  
 ‘  ’     

 . 
      . 
    . 
  , , ,    

. 
   . 
    . 
      

    . 

MARCH 2019 
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    PART – A 

     ACCOUNTING (Maximum Scores : 40) 

 

 Answer all questions from 1 to 4. Each carries 1 score. (4  1 = 4) 

1. Receipts and Payment Account is equivalent to _________. 

 (a) Profit & Loss A/c. (b) Cash Book 

 (c) Balance Sheet (d) Capital A/c. 

 

2. Identify the name of account which is prepared to show, how the profits are distributed 
among partners. 

 (a) Income & Expenditure A/c. 

 (b) Profit & Loss A/c. 

 (c) Profit & Loss Appropriation A/c. 

 (d) None of these 

 

3. Complete the following Journal Entry : 

 _________________________ A/c. Dr. 

                 To Cash A/c. 

 (The amount of goodwill brought in by the new partner withdrawn by the existing 
partners.) 

 

4. The business of the firm is terminated when _________ take place. 

 (a) Dissolution of Partnership 

 (b) Retirement of a partner 

 (c) Death of a partner 

 (d) Dissolution of firm 
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  –  

      (  : 40) 

 

  1   4     . 1  . (4  1 = 4) 

1.         _________   . 

 (a)  &   A/c. (b)   

 (c)   (d)  A/c. 

 

2.        
   . 

 (a)  &  A/c. 

 (b)   &   A/c. 

 (c)   &     A/c. 

 (d)  

 

3.      : 

 _________________________ A/c. Dr. 

                 To  A/c. 

 (       ) 

 

4.       
   _________ . 

 (a)    

 (b)     

 (c)    

 (d)    
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 Answer any 2 questions from 5 to 7. Each carries 2 scores. (2  2 = 4) 

5. Chaithanya and Sandra are partners in a firm, sharing profits and losses equally. During 
the financial year 2017-18, Sandra withdraw ` 20,000 quarterly on the beginning of 
each quarter. Find out the interest on drawings @ 8% p.a. 

 

6. Najeeba, Sherin and Nasar are equal partners. Nasar decides to retire. On the date of his 
retirement, the Balance Sheet of the firm showed a General Reserve of ` 40,000 and 
Profit and Loss Account ` 20,000 (Dr.) 

 Show the accounting treatment for the above. 

 

7. Complete the worksheet based on the hint given below : 

 Description Journal Entry 

Hint Transfer of assets to 
Realisation A/c. 

Realisation A/c.  Dr. 

 To Assets A/c. 

 (individually) 

(a) Sale of Asset ? 

(b) ? Liabilities A/c.   Dr. 

 To Realisation A/c. 

 

 Answer any 2 questions from 8 to 10. Each carries 3 scores. (2  3 = 6) 

8. The profits earned by a business firm during the last 4 years were ` 90,000,                            
` 80,000, ` 1,20,000 and ` 1,10,000 respectively. Normal rate of return in similar 
business is 8%. Calculate the value of goodwill by capitalization of average profit. 
Assume that the value of net assets is ` 9,00,000. 

 

9. Sruthi, Aleena and Febina are partners in the ratio of 3 : 2 : 1. Sruthi retires and her 
share is acquired by the remaining partners in the ratio of 3 : 2. Calculate the new ratio. 

 

10. Ashina, a Commerce student is in a dilemma that she has no clear idea about the 
differences between dissolution of partnership and dissolution of firm. Can you help 
her by giving three points of differences in this regard ? 
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 5   7     2    . 

2  .   (2  2 = 4) 

5.     , 2017-18 

 ,      20,000 
  .    (  
) 8%   . 

 

6. , ,       
 .      40,000  
  ,  20,000                
 .  

    . 
 
7.        : 

    
   

  
 A/c.                 Dr. 

        To      A/c. 

          () 
(a)   ? 

(b) ?   A/c.           Dr. 

 To  A/c. 

 
  8  10     2    . 

3  .   (2  3 = 6) 

8.     4   ` 90,000; ` 80,000;              
` 1,20,000; ` 1,10,000 .    
   8% .    9,00,000  
      
 . 

 
9. , ,   3 : 2 : 1    

 .                  
3 : 2    ,   
  . 

 
10.      , 

      
 .      
  ? 
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 Answer all the questions from 11 and 12. Each carries 4 scores. (2  4 = 8) 

11. Ms. Bhavya, the secretary of Butterfly Arts & Sports Club is not aware about the 
treatment of tournament fund in their Balance Sheet. As a Commerce student you are 
required to help her based on the following details : 

    ` 

Tournament Expenses 16,000 

Tournament Fund 22,000 

Donation for Tournament 8,000 

Collection from the sale of tournament tickets 6,000 

  

12. Gracy, Shiyana and Subisha were partners in a firm sharing profits in the ratio of 5 : 3 : 2. 
Their balance sheet as on 31-03-2017 stood as follows : 

Balance Sheet as on 31-03-2017 

Liabilities Amount Assets Amount 

Sundry Creditors 22,000 Land & Building 40,000 

General Reserve 12,000 Plant & Machinery 50,000 

Partners’ Capital A/c. :  Stock of Goods 30,000 

 Gracy 60,000  Sundry Debtors 38,000 

 Shiyana 50,000  Cash at Bank 16,000 

 Subisha               30,000 1,40,000   

 1,74,000  1,74,000 
    

 Gracy died on 1-10-2017. Her legal heirs are to be settled on the following terms : 

 (a) Interest on capital to be provided @ 10% p.a. 

 (b) Profit till the date of death may be calculated on the basis of last year’s profit, 
which was ` 30,000. 

 Prepare the Capital Account of the deceased partner. 

 

 Answer all the questions from 13 and 14. Each carries 5 scores. (2  5 = 10) 

13. Priya is a partner in a firm, her capital at the end of the financial year 2016-17 was  
` 2,00,000. During the year she had withdrawn ` 30,000. Her share of profit before 
charging interest on capital for the year was ` 8,000. 

 Calculate interest on capital @ 10% p.a. 
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 11  12     . 4  . 

        (2  4 = 8) 
11.   &    .   

   ‘  ’            
  .     
       : 
    ` 
     16,000 
    22,000 
   8,000 
      6,000 

  

12.     , ,  
  5 : 3 : 2    . 31-03-2017  
     : 

Balance Sheet as on 31-03-2017 
Liabilities Amount Assets Amount 

Sundry Creditors 22,000 Land & Building 40,000 

General Reserve 12,000 Plant & Machinery 50,000 
Partner’s Capital A/c. :  Stock of Goods 30,000 
 Gracy 60,000  Sundry Debtors 38,000 
 Shiyana 50,000  Cash at Bank 16,000 
 Subisha               30,000 1,40,000   
 1,74,000  1,74,000 
    

 1-10-2017     .    
      : 

 (a)  10%   . 
 (b)    ,    -

 .    30,000 . 
      . 
 

  13  14     . 5  . 

        (2  5 = 10) 
13.       2016-17 

  2,00,000 .    
  30,000 .     
   8,000 . 

 10%    . 
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14. Rineesha and Arya are partners in the ratio of 3 : 2. Their Balance Sheet as on  
31-03-2017 is given below : 

Balance Sheet as on 31-03-2017 

Liabilities Amount Assets Amount 

Partners’ Capital A/c. :  Bank A/c. 50,000 

 Rineesha 22,000  Stock in Hand 10,000 

 Arya                  25,000 47,000 Debtors 20,000 

Creditors 60,000 Sundry Assets 53,000 

Reserve Fund 26,000   

 1,33,000  1,33,000 
    

 The firm is dissolved on 31-3-2017. Prepare the Realisation Account by considering 
the following : 

 (i) Stock realized ` 9,000 

 (ii) Sundry assets sold for ` 45,000 

 (iii) Realisation expenses met ` 2,000 

 (iv) Creditors paid in full 
 

 Answer any 1 of the following from 15 and 16, which carries 8 scores. (1  8 = 8) 

15. Bright Charitable Society gives you their Receipts and Payments Account : 

Receipts & Payments A/c. for the year ending Dec. 31, 2017 

Receipts Amount Payments Amount 

Opening Balance :  Advertisements 5,700 

 Cash  15,000 Charity Expenses 4,000 

 Bank                  12,500 Investments 32,000 

Subscriptions 26,300 Computer 25,000 

Donations for Buildings 60,000 Rent 6,000 

Legacies 44,500 Stationery 1,200 

Interest on Investment 1,600 Printing 2,500 

Bank interest received 500 Closing Balance :  

   Bank 59,000 

   Cash 25,000 

 1,60,400  1,60,400 
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14.    3 : 2     . 
31-03-2017         : 

Balance Sheet as on 31-03-2017 

Liabilities Amount Assets Amount 

Partners’ Capital A/c. :  Bank A/c. 50,000 

 Rineesha 22,000  Stock in Hand 10,000 

 Arya                  25,000 47,000 Debtors 20,000 

Creditors 60,000 Sundry Assets 53,000 

Reserve Fund 26,000   

 1,33,000  1,33,000 
    

 31-3-2017    .     
     : 

 (i)     ` 9,000 

 (ii)      ` 45,000 

 (iii)     ` 2,000 

 (iv)    . 
 

  15  16    1    .  

8 .     (1  8 = 8) 

15.            
 : 

Receipts & Payments A/c. for the year ending Dec. 31, 2017 

Receipts Amount Payments Amount 

Opening Balance :  Advertisements 5,700 

 Cash  15,000 Charity Expenses 4,000 

 Bank                  12,500 Investments 32,000 

Subscriptions 26,300 Computer 25,000 

Donations for Buildings 60,000 Rent 6,000 

Legacies 44,500 Stationery 1,200 

Interest on Investment 1,600 Printing 2,500 

Bank interest received 500 Closing Balance :  

   Bank 59,000 

   Cash 25,000 

 1,60,400  1,60,400 
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 Prepare Income & Expenditure A/c. and the Balance Sheet for the year ended  

Dec. 31, 2017 by giving due attention for the following : 

 (i) On 1-1-2017 the society owned a building worth ` 50,000 and Furniture worth       

` 20,000 and it had creditors of ` 10,000. 

 (ii) Donations and legacies are to be capitalised. 

 (iii) Interest on investment accrued ` 3,000. 

 (iv) Outstanding rent ` 1,000. 

 

16. Given below is the Balance Sheet of Amal and Midhun who share profits and losses in 

the ratio of 3 : 2.  

 Balance Sheet as on 01-01-2017 

Liabilities Amount Assets Amount 

Creditors 50,000 Cash at Bank 5,000 

Partners’ Capital A/c. :  Sundry Debtors 20,000 

 Amal 40,000  Stock 20,000 

 Midhun              30,000 70,000 Machinery 50,000 

  Furniture 25,000 

 1,20,000  1,20,000 

    

 Mr. Faisal is admitted into the partnership on the following terms : 

 (i) New partner has to bring in ` 25,000 as capital and ` 10,000 as goodwill for 1/6th 

share. 

 (ii) A creditor of ` 1,000 will not claim his amount. 

 (iii) Furniture is revalued at ` 20,000. 

 (iv) Stock reduced by ` 2,000. 

 (v) Depreciation on machinery @ 10% p.a. 

 Prepare the Revaluation A/c., Partners’ Capital A/c. and the Balance Sheet after 

admission. 



SY 50  11 P.T.O.  

     31-12-2017   
         : 

 (i) 1-1-2017       : 

      ` 50,000 

     ` 20,000  

    ` 10,000 

 (ii) ,     . 

 (iii)    (  ) ` 3,000. 

 (iv)    ` 1,000. 

 

16. ,   3 : 2      
      : 

 Balance Sheet as on 01-01-2017 

Liabilities Amount Assets Amount 

Creditors 50,000 Cash at Bank 5,000 

Partners’ Capital A/c. :  Sundry Debtors 20,000 

 Amal 40,000  Stock 20,000 

 Midhun              30,000 70,000 Machinery 50,000 

  Furniture 25,000 

 1,20,000  1,20,000 
    

     .   
    : 

 (i)    25,000    10,000 

 .    1/6 . 

 (ii) 1,000          
. 

 (iii)    20,000 . 

 (iv)   2,000   . 

 (v)  10%     . 

  ,   ,  
     . 
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     PART – B 

COMPUTERISED ACCOUNTING 
    (Maximum Scores : 20) 

 Answer all questions from 1 to 3. Each carries 1 score. (3  1 = 3) 

1. Identify the suitable argument in a financial function representing the number of 
payments from the following : 

 (a) FV   (b) PV 

 (c) Rate   (d) Nper 

 

2. Can you help Mr. Ajith Kumar by pointing out the missing steps to create a chart in 
Spreadsheet from the following : 

 Enter the data in cells Select the data  __________  __________  Finish. 

 

3. In an accounting software, the ledger’s ‘cash’ comes under __________ group. 

 (a) Investments (b) Current Assets 

 (c) Fixed Assets (d) Capital 

 

 Answer any 3 questions from 4 to 7. Each carries 2 scores. (3  2 = 6) 

4. Develop a coding structure and the code number with assumed figures for allotting 
register numbers for the students in higher secondary exam with district code, school 
code and admission number. 

 

5. Have a look on the Spreadsheet tables given below and explain the procedure to fill the 
data in both the cases : 

(a)  A B  (b)  A B 

 1 10    1 Subject – 1  

 2 20    2 Subject – 2  

 3 30    3 Subject – 3  

 4 40    4   

 5 50    5   
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      –  

    
(  : 20) 

  1   3     . 1  .  

       (3  1 = 3) 
1.       

    ? 

 (a) FV   (b) PV 
 (c) Rate   (d) Nper 
 
2.        

.     : 

         

__________  __________  . 
 
3.    ‘ ’   _______________ 

 . 
 (a)   (b)     
 (c)   (d)  

 
  4  7    3    .                

2  .   (3  2 = 6) 

4.       
  ,   ,    
      
 . 

 
5.     .    

    : 

(a)  A B  (b)  A B 

 1 10    1 Subject – 1  

 2 20    2 Subject – 2  

 3 30    3 Subject – 3  

 4 40    4   

 5 50    5   
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6. Identify the elements of a chart 1 to 4 from the following figure : 

  

 

7. A Data Base Management System (DBMS) has different components. List out any four 
of them. 

 

 Answer any 2 questions from 8 to 10. Each carries 3 scores. (2  3 = 6) 

8. Mr. Anjay a newly admitted student in the class have no idea about the mathematical 
functions in Spreadsheet. Can you help him to learn any three mathematical functions 
and its purpose ? 

 

9. One of your friend argued that there is no difference between SLN and DB functions in 
Spreadsheet. Do you agree with this ? Substantiate your answer. 

 

10. Explain the procedure for creating ‘Table’ in a database and how to set the primary key. 

 

 Answer the question number 11, which carries 5 scores. (1  5 = 5) 

11. Ms. Sunitha, a Commerce student, while presenting a seminar on accounting software 
package, commented that the procedure for entering closing stock and opening stock 
are one and same. Do you agree ? Explain the procedure in detail. 

______________ 
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6.    1  4     
  : 

  
 

7.               (DBMS)       . 
 4  . 

 
  8  10    2    .                

3  .   (2  3 = 6) 

8.        
   .  3 
      
 . 

 
9. SLN, DB       

  .    ?  
 . 

 
10.   ‘’   . ‘ ’ 

   ? 

 
  11-  . 5 . (1  5 = 5) 

11.   .    
,       
  .    ? 

  . 

______________  



SY 50 16  

 


	RSY 44 (Anthropology)
	RSY 45 (Computer App.)
	RSY 46 (Computer App.) (Comm.)
	RSY 47 (Journalism)
	RSY 48 (Business Studies)
	RSY 49 (Acc. with AFS)
	RSY 50 (Acc. with C.A.)

